

Available online at http://www.journalcra.com

International Journal of Current Research Vol. 8, Issue, 11, pp.41639-41642, November, 2016 INTERNATIONAL JOURNAL OF CURRENT RESEARCH

RESEARCH ARTICLE

ON CHARACTERIZATION OF A GENERALIZED (α, β) 'USEFUL' INFORMATION MEASURE

*Dr. Ahmad, R.

Department of Statistics and Operations Research, Aligarh Muslim University, Aligarh-202 002, India

ARTICLE INFO

ABSTRACT

Article History: Received 26th August, 2016 Received in revised form 22nd September, 2016 Accepted 28th October, 2016 Published online 30th November, 2016

Key words:

Useful Information, Pearson's χ^2 -Statistic, Functional Equation, Utility Schemes, Kullback's Information, Divergence Measure. In this communication a generalized measure of 'useful' information is defined which has a utility scheme and two probability distributions respectively. The recent development in information theory is described to the study of characterization results based on the purely functional equation approach. In this paper, a characterization theorem is proved here with help of a functional equation. A generalized (α, β) information measure of Ahmad and Khan (1977), the relative 'useful' information of jain and Tuteja (1986), the directed divergence of Rathie and Kannappan (1972), relative information of Kullback's (1959) and Pearson's χ^2 - statistic is a measure of discrepancy between the two distributions P and Q are special cases of the measure defined here.

Copyright © 2016, Ahmed. This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

Citation: Ahmed, R. 2016. "On characterization of a generalized (α, β) 'useful' information measure", *International Journal of Current Research*, 8, (11), 41639-41642.

1. INTRODUCTION

Shannon's (1948) entropy measure

$$I_n(P) = -\sum_{i=1}^n p_i \log p_i$$
 (1.1)

of the probability distribution

$$P = (p_1, p_2, \dots, p_n), p_i > 0, \sum_{i=1}^n p_i = 1$$

was first generalized by Belis and Giuasu (1968) who defined 'useful' information as:

$$I_n(U;P) = \sum_{i=1}^n u_i p_i \log p_i$$
(1.2)

by attaching utility $u_i > 0$ to the event with probability p_i . Followig the same idea Emptoz (1976) and Sharma et al. (1978) generalized the Havrda - Charvat (1967) entropy measure

$$I_{n}^{\alpha}(P) = \left(2^{1-\alpha} - 1\right)^{-1} \left(\sum_{i=1}^{n} p_{i}^{\alpha} - 1\right), \alpha > 0$$
(1.3)

through the introduction of utilities u_i to

$$I_{n}^{\alpha}(U; P) = (2^{1-\alpha} - 1)^{-1} \sum_{i=1}^{n} u_{i} (p_{i}^{\alpha} - p), \alpha > 0$$
(1.4)

to which function they also gave the name of 'useful' information.

2. Generalized (α, β) 'Useful' Information Measure

Consider the following two utility information schemes given by

$$S_n = [A, P, U, n], \tag{2.1}$$

where $A = (A_1, A_2, ..., A_n)$ is an experiment, $P = (p_1, p_2, ..., p_n), p_i > 0, \sum_{i=1}^n p_i = 1$ is the probability and $U = (u_1, u_2, ..., u_n), u_i > 0$ be the utility distribution of a set of n events after an experiment, an

^{*}Corresponding author: Dr. Ahmad, R.

Department of Statistics and Operations Research, Aligarh Muslim University, Aligarh-202 002, India.

$$S_n = [A, Q, U, n], \tag{2.2}$$

where
$$Q = (q_1, q_2, ..., q_n), q_i > 0, \sum_{i=1}^n q_i = 1$$
 is the

probability distribution of the same set A of an events after an experiment. In both the schemes (2.1) and (2.2) the utility distribution $U = (u_1, u_2, ..., u_n), u_i > 0$ be the same because it is assumed that the utility u_i of an outcome A is independent of its probability of occurrence p_i or predicted probability q_i [refer to Longo (1972)], then we obtain the measure

$$\begin{aligned} & = \left(2^{\beta-\alpha}-1\right)^{-1}\sum_{i=1}^{n}u_{i}p_{i}\left[\left(\frac{p_{i}}{q_{i}}\right)^{\beta-\alpha}-1\right],\\ & \alpha, \ \beta>0, \ \alpha\neq\beta \end{aligned}$$

$$= \left(2^{\beta-\alpha} - 1\right)^{-1} \sum_{i=1}^{n} u_i \left(p_i^{\beta-\alpha+1} q_i^{\alpha-\beta} - p_i \right),$$

$$\alpha, \beta > 0, \alpha \neq \beta$$
(2.3)

which we may call (2.3) a generalized 'useful' information measure in analogy with Belis and Guiasu (1968).

Particular Cases of the New Measure

(i) If we take $u_i = 1$ for each *i* in (2.3) we obtain the measure

$$(2^{\beta-\alpha}-1)^{-1} \sum_{i=1}^{n} (p_i^{\beta-\alpha+1}q_i^{\alpha-\beta}-p_i),$$

$$\alpha, \ \beta > 0, \ \alpha \neq \beta$$

$$(2.4)$$

which is (α, β) information measure studied by Ahmad and Khan (1997).

(ii) If we take $\alpha = 1$ in (2.3), we get the measure

$$I_{n}^{\alpha,\beta}(U;P,Q) = (2^{\beta-1}-1)^{-1} \sum_{i=1}^{n} u_{i} p_{i} \left[\left(\frac{p_{i}}{q_{i}} \right)^{\beta-1} - 1 \right],$$

$$\beta > 0, \beta \neq 1$$
(2.5)

which is β – type relative 'useful' information obtained by Jain and Tuteja (1986).

(iii) If we take $u_i = 1$ for each i and $\alpha = 1$ in (2.3), we obtain a measure of directed divergence of Rathie and Kannappan (1972) which is given by:

$$I_{n}^{\beta}(P;Q) = (2^{\beta-1}-1)^{-1} \left(\sum_{i=1}^{n} p_{i}^{\beta} q_{i}^{1-\beta} - 1 \right),$$

$$\beta > 0, \beta \neq 1$$
(2.6)

(iv) If we take $u_i = 1$ for each *i* and $\alpha = 1$ and $\beta = 2$ in (2.3), we get

$$I_{n}^{1,2}(P,Q) = \left[\left(\sum_{i=1}^{n} \frac{p_{i}^{2}}{q_{i}} \right) - 1 \right]$$
(2.7)

which is Pearson's χ^2 – statistic and is a measure of discrepancy between the two discrete populations P and Q.

(v) Further if $u_i = 1$, $\alpha = 1$ and $\beta \to 1$ in (2.3)

$$I(P;Q) = \sum_{i=1}^{n} p_i \log_2(p_i/q_i)$$
(2.8)

which is Kullback's (1959)measure of relative distribution $P = (p_1, p_2, \dots, p_n)$ information that the provides about the distribution $Q = (q_1, q_2, ..., q_n)$. We may, therefore, take this measure as a generalized measure of the relative information that the distribution P provides about the distribution Q. If P is the distribution determined on the basis of an experiment, then this measure may be considered as a measure of the information on *Q* furnished by the experiment. So far various authors have described two different approaches to characterization results, with reference to Shannon's entropy. In the first, which we may call the purely axiomatic approach, one does not specify ab initio any particular form for the entropy function but obtains it directly from the listed properties. In the second approach one assumes a particular functional form for the entropy function and also lists some other properties on the basis of which a functional equation is derived whose solution is utilized to obtain the entropy function. In addition to these two approaches we also come across a third approach, particularly in relation to more general information measure, which we may call the purely functional approach. In this method one specifies the general form of the information measure involving one or more undetermined functions. The particular information measure is then shown to result from the solution of a functional equation involving the undetermined functions. The functional equation used does not necessarily arise from any basic properties of the information measure but is formulated without any reference to such properties. The recent development in information theory is described to the study of characterization results based on the purely functional equation approach. We shall characterize the measure $I_n^{\alpha,\beta}(U; P, Q)$. Application of $I_n^{\alpha,\beta}(P, Q)$ and $I_{\mu}^{\alpha,\beta}(U;P,Q)$ have been made recently in the theory of questionnaire (refer Picard 1972) and in the analysis of business and Accounting data (refer Sharma et al. (1976, 1978). Thus there arose a need of further studying statistical estimators of $I_n^{\alpha,\beta}(P,Q)$ and $I_n^{\alpha,\beta}(U;P,Q)$.

2. Characterization of $I_n^{\alpha,\beta}(U;PQ)$

We consider the following functional equation

$$F(uv, xy, st)$$

= $ux^{\beta-\alpha+1}s^{\alpha-\beta}F(v, y, t) + vyF(u, x, s)$ (3.1)

for which we have the following lemmas.

Lemma 1: If the domain of *F* is $(0,\infty) \times (0,1) \times (0,1)$, the general solution of (3.1) is $F(u,x,u) = K(ux^{\beta-\alpha+1}s^{\alpha-\beta} - ux)$, where *K* is an arbitrary constant.

Proof: Interchanging u and v, x and y, and s and t in (3.1) we get

$$F(vu, yx, ts) = vy^{\beta-\alpha+1}t^{\alpha-\beta}F(u, x, s) + uxF(v, y, t)$$
(3.2)

from (3.1) and (3.2) we obtain

$$\left\{ u x^{\beta - \alpha + 1} - u x \right\} F \left(v, y, t \right)$$

= $\left\{ v y^{\beta - \alpha + 1} - t^{\alpha - \beta} - v y \right\} F \left(u, x, s \right)$ (3.3)

Now, in the domain under consideration

 $ux^{\beta-\alpha+1}s^{\alpha-\beta} - ux$ and $vy^{\beta-\alpha+1}t^{\alpha-\beta} - vy$ are not equal to zero. Hence (3.3) yields

$$\frac{F(u,x,s)}{ux^{\beta-\alpha+1}s^{\alpha-\beta}-ux} = \frac{F(v,y,t)}{vy^{\beta-\alpha+1}t^{\alpha-\beta}-vy}$$

which leads to

$$F(u, x, s) = K\left(ux^{\beta - \alpha + 1}s^{\alpha - \beta} - ux\right)$$
(3.4)

where K is some constant. Substitution of (3.4) is indeed a solution (3.1), which proves the lemma.

Since, we propose to use functional equation (3.1) to characterize the 'useful' information measure (2.3) it is necessary to extend the domain of F to $[0,\infty) \times [0,1] \times [0,1]$.

We will now show that the solution (3.4) can be extended to the enlarged domain through continuity.

Lemma 2: If $\alpha \neq 1, \beta \neq \alpha$, then (3.4) is a solution of (3.1) in the domain $(0,\infty) \times (0,1) \times [0,1]$.

Proof: If $\alpha \neq 1, \beta \neq \alpha$, then $ux^{\beta-\alpha+1}s^{\alpha-\beta} - ux \neq 0$ in the new domain also, from which the lemma follows.

It therefore remains to consider the behavior of the equation (3.1) for

$$\begin{array}{c} (0, x, s) \\ (0, 0, s) \\ (0, 1, s) \end{array} \right\}, x \in (0, 1), s \in [0, 1]$$

and,

12

$$(u,0,s)$$

 $(u,1,s)$, $u \in (0,\infty), s \in [0,1]$.

At all these points we define F(u, x, s) by continuity to obtain

$$F(0, x, s) = \lim_{u \to 0} F(u, x, s) = 0$$

$$F(0,0,s) = \lim_{\substack{u \to 0 \\ x \to 0}} F(u, x, s) = 0$$

$$F(0,1,s) = \lim_{\substack{u \to 0 \\ x \to 1}} F(u, x, s) = 0$$

$$F(u,0,s) = \lim_{x \to 0} F(u, x, s) = 0$$

$$F(u,1,s) = \lim_{x \to 1} F(u, x, s) = K(us^{\alpha - \beta} - u)$$

It can be verified that these limiting values of F(u, x, s) are solutions of (3.1). For example, taking u = 0, y = 1, t = 1, in (3.1) we get

$$F(0,x,s) = vF(0,x,s)$$

which implies F(0, x, s) = 0, similarly, taking x = y = 1in (3.1) we get

$$F(uv,1,st) = us^{\alpha-\beta}F(v,1,t) + vF(u,1,s)$$
(3.5)

interchanging u and v, s and t, in (3.5) gives

$$F(vu,1,ts) = vt^{\alpha-\beta}F(u,1,s) + uF(v,1,t).$$
(3.6)

From (3.5) and (3.6), we obtain

$$(us^{\alpha-\beta}-u)F(v,1,t) = (vt^{\alpha-\beta}-v)F(u,1,s)$$

Here we have u > 0; hence, if $s \neq 1$,

$$F(u,1,s) = A(us^{\alpha-\beta} - u)$$

where A is an arbitrary constant. For the case s = 1, we get, putting x = y = 1, s = t = 1 in (3.1) we get

$$F(uv, 1, 1) = u F(v, 1, 1) + v F(u, 1, 1)$$

for which the solution is $F(u,1,1) = B \log u$, B being an arbitrary constant,

or F(u, 1, 1) = 0.

The latter solution corresponds to the value

$$\lim_{x\to 0} F(u,x,1)$$

We summarize the above results as follows:

Iemma 3: If $\alpha \neq 1, \beta \neq \alpha$, the general continuous solution of (3.1) in the domain $[0,\infty) \times [0,1] \times [0,1]$ is given by (3.4). We are now in a position to obtain a characterization theorem for $I_n^{\alpha,\beta}(U; P, Q)$

Theorem: A generalized 'useful' information measure is given by:

$$I_{n}^{\alpha,\beta}(U;P,Q) = \sum_{i=1}^{n} F(u_{i};p_{i},q_{i})$$
(3.7)

where F satisfy the functional equation

(3.1) with the normalizing condition

$$F\left(1,1,\frac{1}{2}\right) = \left(2^{\beta-\alpha} - 1\right)^{-1} \left(2^{\alpha-\beta} - 1\right)$$
(3.8)
or
$$F\left(1,1,\frac{1}{2}\right) = 1$$

Proof: From (3.8) and (3.4), we obtain

$$K\left[\left(\frac{1}{2}\right)^{\alpha-\beta}-1\right]=1$$

i.e., $K = (2^{\beta - \alpha} - 1)^{-1}$.

Hence

$$\sum_{i=1}^{n} F(u_i; p_i, q_i)$$

$$= \left(2^{\beta-\alpha} - 1\right)^{-1} \sum_{i=1}^{n} u_i \left(p_i^{\beta-\alpha+1} q_i^{\alpha-\beta} - p_i\right)$$

$$= I_n^{\alpha,\beta} (U; P, Q)$$

which concludes the proof of the theorem.

Acknowledgement

The author is thankful to Professor D.D. Joshi, Ex, Pro-Vice-Chancellor, I.G.N.O.U., New, Delhi, offering constructive suggestions during the preparation of this paper.

REFERENCES

- Ahmad, R. and Khan, S.U. 1977. Axiomatic Characterization of a generalized (α, β) Information Measure, Inter. Jour. of Mang. and Syst., Vol. 13, no. Jan.Dec. 125-132.
- Belis, M. and Guiasu, S. 1968. A qualitative quantitative measure of information in cybernetic systems, *IEEE Trans. Inform. Theory*, 14, 593-94.
- Emptoz, H. 1976. Information de type integrant unconcept d' utilitie, C.R. Acad. Sci Paris, 2824, 911-14.
- Havrda, J. and charvat, F. 1967. Quantification method of classification processes' concept of structural α entropy, *Kybernetika*, 3, 30-35.
- Jain, P. and Tuteja, R.K. 1986. An axiomatic Characterization of relative 'useful' information measure, *Jour. of Information and Optimization Sciences*, vol.7, no.1, 49-57.
- Kullback, S. 1959. *Information Theory and Statistics,* Wiley, New York.
- Longo, G. 1964. *A quantitative measure of information*, Springer-Verlag. Berlin.
- Picard, C. F. 1972. *Graphs et Questionnaires* Gautheir-Villiars, Paris.
- Rathie, P. N. and Kannappan, P.I 1972. A directed divergence of the type β , Information Directed divergence function of

th etype β , Information and Control 20, 38-45.

- Shannon, C.E. 1948. A mathematical theory of communication, Bell System Tech. Jour., 27, 329-423, 623-656.
- Sharma, B.D. Mitter, J. Mohan, M. 1978. On measure of 'useful' information, *Information and Control*, 39, 323-336.
- Sharma, B.D., Mohan Man and Dev. J. 1976. Financial statements: An information approach, *Indian J. Accounting*, 6, 427-438.
